4014NV

Parts Breakdown




V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

n

©©OO\I\JO§G>O'I-I>QJI\J—\)5,
E=3

/ |

b A A &

Part ID
211033-2
213002-9
512836-0
522616-6
213052-4
210042-8
211056-0
157464-0
159855-1
911163-6
241807-7
241888-1
911117-3
410482-2
415921-7
911133-5
132025-7
414145-2
911265-8
410480-6
911133-5
687002-9
682502-4
664064-4
911148-2
157521-4
531010-1
651255-6
651255-6
643600-9
191945-4
194982-7
858355-5
263002-9
263002-9
343657-7
1223211
342878-8
152273-2
911111-5

Parts Breakdown

Part Name
B. BEARING 608LB, 5091D
DUST SEAL 8, 6013BR
ARMATURE, 4014NV
FIELD, 4014NV
DUST SEAL 9, 4014NV
BALL BEARING 629LLB, 5277NB
B. BEARING 629LLB, 4101RH
FAN HOUSING, 4014NV,T1
FAN HOUSING, 4014NV
P.H. SCREW M4X35, 4014NV
FAN 110, 4014NV,T1
FAN, UB1101
P.H. SCREW M4X12, 4014NV
FAN COVER, 4014NV,T1
FAN COVER, 4014NV
P.H. SCREW M4X18, N9501B
NOZZLE ASS'Y 4014NV, 4014B, (T2)
CONNECTOR, UB1101
P.H. SCREW M5X40, HK1810
HANDLE COVER, 4014NV
P.H. SCREW M4X18, N9501B
STRAIN RELIEF, 9217SPC
CORD GUARD 8-85, HP2010N
CORD (2X18X8 SJ), HR2400
P.H. SCREW M4X25, 5057KB
MOTOR HOUSING, 4014NV
N/A
SWITCH, 4014NV
SWITCH, 4014NV
BRUSH CAP 6-10, 9005B
CARBON BRUSH SET CB-124 (2/PK), 9045B
CARBON BRUSH SET CB-124, 9045B
NAME PLATE, 4014NV
RUBBER PIN 4, HR2400
RUBBER PIN 4, HR2400
RETAINER, JR3000V
DUST BAG, UB1101
COVER PLATE, 4014NV
SPRING PIN COMPLETE, 4014NV
P.H. SCREW M4X10, LS1011

Page 2 of 2

Quantity

N NANAD A A aaN"AAaOaaabBdNaaaN - " N, AN aoaaaaabdDaaaaaaaaan

4014NV

8/18/2010



